Matrices and Determinants - Class XlI

Past Year JEE Questions

Questions
Quetion: 01
X sin@ cosé@
IfAl=|—sin@® —x 1 |and
cos @ 1 X
X sin26  cos 260
A2 = |—sin 26 —X 1 [,x#0;
cos 20 1 X
thenforallg € (0,2) :
A. Al — A2 = x (cos 26 - cos 40)
B.Al+ A2 =-2x3
C.AI+A2=-2x3+x-1)
D.A] — A2 =-2x3
Solutions
Solution: 01
Explanation
X sin@ cosd
Al=|-sinf® —x 1
cos 0 1 X

= x(—x2 -1) = sin@(-xsin@ - cosd) + cosH(-sind+ xcosh)

3

=-Xx2 -X+ xsinze + sinfcosH - cosdsing + xc0529

3 3

=-x2 - X+ X=X
Similarly Ap = —x3

A+ Ap = —2x3



